H & 0l & AHS B Ml A

0288 E =8 3 2 LESIH L JIHSESIH, SIILSE2H N Hotd )t
SA TN I
M THHZTH
Rl Mol 2kl EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
THEFQFM 1t 39,703,878 39,188,218 515,660
= 872,224 249,269 622,955
z 10,815,000 10,815,000 0
= 2,000,000 2,000,000 0
[ 7,096,960 6,802,710 294,250
= 18,881,694 19,283,239 A401,545
= 38,000 38,000 0
K=t TH 22,821,043 22,835,643 14,600
= 7,081 7,081 0
z 10,640,000 10,640,000 0
< 5,839,938 5,847,338 42,600
= 6,246,024 6,303,224 157,200
= 38,000 38,000 0
THRHoH 2t 591,079 594,879 23,800
= 7,081 7,081 0
< 402,938 402,938 0
= 143,060 146,860 23,800
= 38,000 38,000 0
M Seaas 29 28,800 32,600 23,800
201 er23| 24,800 28,600 23,800
02 S3=gl 19,400 23,200 23,800
OMtEeaata FXl2eld|
3& 16,200,000 16,200 20,000 23,800
THEETHGH Ol 22,229,964 22,240,764 10,800
= 10,640,000 10,640,000 0
< 5,487,000 5,444,400 42,600
= 6,102,964 6,156,364 53,400
ArATHER Ol 2EAL 439,064 489,064 50,000
401 AlEHIYL S THYI 439,064 489,064 50,000
01 Al&HI 382,000 432,000 50,000
OMoiFARASAIE 2 SEHIALY
& 50,000,000 50,000 100,000 A50,000
EHEE A 40,800 47,600 26,800
< 20,400 23,800 23,400
= 20,400 23,800 23,400
301 LEEEZ 40,800 47,600 26,800
< 20,400 23,800 23,400
= 20,400 23,800 23,400
14 JIE2 43 40,800 47,600 26,800
E0HEE X Z3& 40,800,000 40,800 47,600 26,800
< 20,400 23,800 23,400
i 20,400 23,800 23,400
SHItCHEK Y| 69,000 43,000 26,000




SA TN I
M THHZTH
s THEHXHGH Ol & EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
[ 69,000 43,000 26,000
201 er23y| 32,000 6,000 26,000
< 32,000 6,000 26,000
01 At2teltl 32,000 6,000 26,000
OF A E etthel 82238
Z& 32,000,000 32,000 6,000 26,000
< 32,000 6,000 26,000
S0 69,300 49,300 20,000
< 69,300 49,300 20,000
405 THoHE S| 47,000 27,000 20,000
(= 47,000 27,000 20,000
01 ML ESFSHI 47,000 27,000 20,000
OZg AL &EX(48H)
d&d 47,000,000 47,000 27,000 20,000
< 47,000 27,000 20,000
e 24 627,779 634,579 26,800
= 4,188 4,188 0
< 16,812 16,812 0
= 606,779 613,579 26,800
dHE0e? F4 2l 209,756 203,556 6,200
= 4,188 4,188 0
< 10,679 10,679 0
= 194,889 188,689 6,200
QAN & JIgdHA 0 800 2800
301 LEEEZ 0 800 2800
11 HAIRHIXIZ S 0 800 2800
Oulg=(th Z&J|g&AL F4Xt 2ot
33 03 0 800 A800
pgRlus & 24 34,080 37,080 23,000
307 2IZtol ™ 14,000 17,000 23,000
05 2IR”IRIE = 14,000 17,000 23,000
Oglgel A0S 22|
& 14,000,000 14,000 17,000 23,000
olgte] Ald2e) 73,020 53,020 20,000
401 AlEBIYL LY 20,000 0 20,000
01 Al£HI 20,000 0 20,000
Oplgre] HE 1A 018 (Y XIHHIE)
20,000,000 20,000 0 20,000
AR 2R 22| 3,277 44,277 10,000
301 LEtENS 3,277 44,277 10,000
10 ARISRFEHS 33,284 43,284 10,000
OA =R 22
3& 25,280,000 25,280 35,280 10,000
SIELREA =Y 2 MREH S4 418,023 431,023 13,000




SM: THEHORE DL
Ha: olgel 29
ol SEYIENN Y U MSISH 84 (crol: m2)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
= 6,133 6,133 0
2 411,890 424,890 A13,000
BEYT SHN 142,380 165,380 213,000
T EEST] 5,000 18,000 213,000
01 Al 5,000 18,000 213,000
OaSS HHIZEN Y2TA
3 02 0 13,000 A13,000
CEREE 11,834,353 11,013,930 820,423
2 860,955 238,000 622,955
2 175,000 175,000 0
= 2,000,000 2,000,000 0
= 855,650 604,000 251,650
=z 7,942,748 7,996,930 A54,182
Ngrord |xze 1,036, 100 936, 100 100,000
= 704,000 604,000 100,000
2 332,100 332,100 0
Ao R X 22 AR (2 X) 454,000 354,000 100,000
= 454,000 354,000 100,000
401 AIEBI L2 TH| 454,000 354,000 100,000
= 464,000 354,000 100,000
01 Al 454,000 354,000 100,000
OXIYoHe RXB2I(LE W)
AT 454,000,000 464,000 354,000 100,000
< 454,000 354,000 100,000
Actd Rz 9,532,855 9,567,037 A54,182
2 175,000 175,000 0
s 2,000,000 2,000,000 0
2 7,357,855 7,412,087 AB4,182
AStESTIREAY 1,364,029 1,308,891 734,862
T EEST] 1,348,729 1,383,501 734,862
01 Al 5,138 980,000 734,862
O4GHE DI2EX 243
A 112,300,002 112,300 120,000 AT7,700
OMSRIABHE FUIAY (M2 D)
AT 22,838,009 22,838 50,000 £27,162
ADIE HEBRINAEY DEA 334,218 350,000 A15,782
2 175,000 175,000 0
2 169,218 175,000 A15,782
T EEST] 334,218 350,000 A15,782
2 175,000 175,000 0
2 169,218 175,000 A15,782
01 Al 334,218 350,000 A15,782
OADIE HSBRANAEY PEAY
AT 34,218,000 334,218 350,000 A15,782
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SA: Teterd
HE: GiEze
&elr Aotd |2t EER=E)
M- - SA(3) - MRAY - BES Ol &koy N3 A Hlns
=z 175,000 175,000 0
2 159,218 175,000 A15,782
AMZ =25t SHUSI|(A6HE S=ol0le) 583,268 586,806 13,538
401 A& HI 2L 2 OHH| 583,268 586,806 13,538
01 Al&ZHI 583,268 586,806 13,538
OZ= 286e] 4PLURHO0|ASHE A2
2IAFY AE 4,461,200 41,462 45,000 13,538
Mol =7 1,027,398 252,793 774,605
= 622,955 0 622,955
[= 151,650 0 151,650
= 252,793 252,793 0
Tol=72tel 728,223 101,000 627,223
=2 558,705 0 558,705
[ 68,518 0 68,518
2 101,000 101,000 0
302 OIFL T2 A2 677,223 50,000 627,223
=2 558,705 0 558,705
(= 68,518 0 68,518
2 50,000 50,000 0
R QI L SRS 2 A2 677,223 50,000 627,223
06.27.~7.27. LUK WHXLS(HEA)
627,223,0002 627,223 0 627,223
= 558,705 0 558,705
(= 68,518 0 68,518
HeS EHE ItE Mol=ER Wt XS 64,250 0 64,250
= 64,250 0 64,250
302 OIFL T2 A 2 64,250 0 64,250
= 64,250 0 64,250
R QRN L SRS 2 A2 64,250 0 64,250
OHN6Z EfZE b= MollE27? MUHX2(H4E
) 64,250,000 64,250 0 64,250
=2 64,250 0 64,250
XI5 THOH=S A (XHE]) 83,132 0 83,132
(= 83,132 0 83,132
401 A& HI 2L 2 OHH| 83,132 0 83,132
< 83,132 0 83,132
01 Al&HI 83,132 0 83,132
OX ot THol=SR2AIE (KHE)(HS8H)
83,132,000 83,132 0 83,132
[ 83,132 0 83,132
N2 L HESA A2 A5 3,079,242 3,362,615 N283,373
[ 334,560 334,560 0
2 2,744,682 3,028,055 283,373
HAFE 222 3,079,242 3,362,615 283,373

~




2A:

Tt
g =25 & 2SN A 3t
el SYFERI 2L (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
< 334,560 334,560 0
= 2,744,682 3,028,055 N283,373
SYZNHE 2E 1,528,133 1,661,055 A132,922
101 el4H| 270,898 318,411 N47,513
08 SRA(PINAHL) 222+ 208,972 250,920 N41,948
OSE2NHE RIAA2 2L 2=
38 208,972,000 208,972 250,920 A41,948
M IRtHMZZ2HS e 61,926 67,491 Ab,565
OSE2ZHHEH JIZHM22X 24 61,926 67,491 5,565
=0 3 47,306,000 47,306 48,140 N84
PNE= & 1,300,000 1,300 2,021 AT721
-EH3 &34 8,024,000 8,024 12,034 A4,010
201 Zet=3hl 994,321 1,076,464 N82,143
01 At2teltl 35,942 36,700 AT58
OSS2NHE AHE HAZ2OH 7 27,342 28,100 AT58
CIsAE d& 9,405,000 9,406 9,900 N49%5
-2EeRE 38 17,937,000 17,937 18,200 N263
2 55234l 958,379 1,039,764 81,385
OZHEEHMIII] RB(NHE0IANS, MHE
YHE SE0ISAHE) 588,559 621,264 A32,705
-HE3d= & & 513,000,000 513,000 541,800 28,800
-MIIMNBE 3& 75,559,000 75,559 79,464 A3,905
OSHEEXMIII] RAEL
&d& 119,800,000 119,800 136,000 16,200
OSEZHHE 22+ 232,500 264,980 32,480
~SEZHHE AMAE RXE4
& & 145,000,000 145,000 166,820 A21,820
-SEEAS ALY RIES
3% 87,500,000 87,500 98,160 10,660
405 RHaks S| 255,234 258,500 13,266
01 I =S F = 255,234 258,500 3,266
OHEZNAIAY It 15
44 57,510,000 57,510 58,000 A40
Olp2telAlIAE W & 85,425,000 85,425 85,500 NAT5
OSEMHE HE2ACIANAE AF
3% 74,335,000 74,335 75,000 2665
OSE2NHE B2S MBI WX
38 37,964,000 37,964 40,000 A2,036
HUUZ H=et SHUSI(LEAHHEH i) 704,549 855,000 A 150,451
401 AIEHIL 20| 704,549 855,000 A150,451
01 Al&ZHI 704,549 855,000 150,451
OsZE0tEdE J4Z2M2DPD] EX1(8
845 gUieal) 3E 17,446,0002 17,446 20,000 N2,554
OsZEitsotdg S4FEEHMeINI EX(S
48 B=x22) 338 13,723,000 13,723 15,000 n1,217
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SA THEHORA
3% JEs & 234 9Y L
el FYYEEI 2L (Gt M)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
Os&0=dg JayLxeIl EX(8
48 g33e2) 38 27,446,0002 27,446 30,000 A2,554
Os&E0sedg JaAFExII] EX(S
48 8432 23 17,446,000 17,446 20,000 N2,554
OsElsdg SYFENII| EX(S
48 3462) 3E 22,446,0002 22,446 30,000 N7 ,554
SEOSUNE JAFEXID] EX(S
48 2<el) 4% 8,723,000 8,723 10,000 AN Wi
OsZE0=edg JayExelIIl EX(S
48 da1el) 23 17,446,000 17,446 30,000 A12,554
OsElsdg SYFEXII EX(S
48 4&ld2e) 3& 17,446,0002 17,446 30,000 A12,554
SEOSANE JAFERID] EX(S
48 &asel) 38 27,446,0002 27,446 30,000 A2,554
OsZE0=edg JaAFyExII] £X(S
48 =322) 23 17,446,000 17,446 20,000 N2,554
OsElsdg SYFEXINI| EX(=S
&g ?322) 38 22,446,0002 22,446 30,000 N7 ,554
SEOSUNE JAFERID] EX(S
s el 348 13,723,0002 13,723 15,000 AN W
OsZE0=edg Jayexell £x(s
g /&) 23 17,446,000 17,446 30,000 A12,554
OsElsdg SYFEXID EX(=S
28 232a2) 38 22,446,0002 22,446 30,000 N7 ,554
SEOSHEE SYFEHM2III] EX(L
olgt ss12l) 38 22,446,0002 22,446 30,000 AT ,554
OsEltsdg SYFEXI1I] EXI(L
o1t =12¢) 23 17,446,000 17,446 20,000 N2,554
SEOSNE JaFERII] £X(2
= 01532l) 33 17,446,0002 17,446 20,000 N2,554
SEOSANE JAFEXIII] EX(2
g0 2a2el) 33 8,723,000 8,723 15,000 n6,277
SEOSHNE JHFEHeII]| XY
SH 4322) 23 17,446,000 17,446 20,000 N2,554
SEOSNE JaFERID] £X(Y
SH 0reHel) 38 27,446,0002 27,446 30,000 N2,554
SEOSANE JAFEXII] EX(Y
SH s82e) 33 27,446,000 27,446 30,000 N2,554
OsE0sdg SYFERI10] EXI(H
A9 01=121) & 27,446,0002 27,446 30,000 N2,554
SEOSHNE JHFEHM2III] EX(H
48 t31el) &3 13,723,000& 13,723 15,000 AN Wereg
Os&E0=2dg JadExeII]l X4
49 g312l) 33 22,446,000 22,446 30,000 AT ,554
OsE0sdg SYFER0 ERI(H
49 53522) d& 13,723,0002 13,723 15,000 ~1.2r7
SEOSNE JaFEXNII X4
48 9383e) 3E 27,446,0002 27,446 30,000 N2,554




SA T I
33 d25 ¥ 2SS I Yt
el SyEEEgE2l EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
OsZ0sds JaFEM2D] EX1(Y
9 SE8e) Z& 13,723,000 13,723 15,000 at127m7
OsZEied2 a2 £XN(
g¢ 4311el) 3 17,446,000 17,446 30,000 A12,554
O=E0S2ds SAEEMH2II| EXI(&
A8 2i1el) Z& 27,446,000 27,446 30,000 22,554
OsZiedE JaFEMID| ZXI(H
=9 Ha3el) 33 8,723,000& 8,723 10,000 at127m7
OsZEiedg JadEMIPD| £X1(Z
=08 2&?2¢cl) 3 27,446,000 27,446 30,000 N2,554
O=E0S2¢ds SHEEH2II &XI(Z
=0 2852) Z& 27,446,000 27,446 30,000 N2,554
sSEOSANE B0 &X(Z
=0 28H122l) d& 17,446,000 17,446 20,000 22,554
OsZEitedg JadEHM2IPD £X1(Z
=0 arE2e]) d3 27,446,000 27,446 30,000 N2,554
O=E0S2¢ds SH4EEH2II| &XI(Z
=0 2&1al) Z& 13,723,000 13,723 15,000 o127
OsZisdE JaZEMIPD| £X1(Z
=20 AF=E32I) 33 8,723,000& 8,723 10,000 o277
OsZEited2 JadEHMID| EX1(Y
=08 a2e]) &d& 8,723,000 8,723 10,000 1,277
HeEsS(THterd ) 1,238,431 1,238,421 10
SRS (T D) 79,431 79,421 10
HEE BXAMY BHEZ 34,331 34,321 10
802 grat=JIE 34,331 34,321 10
02 Al - SHIEZ=ZBHEZ 32,012 32,002 10
O2022 AL A 22 QMM QI BHOIXt
9,580 10 0 10




